New Tauberian theorems for statistical Cesàro summability of a function of three variables over a locally convex space

C. Granados and A. K. Das

Abstract. In this paper, we prove two new Tauberian theorems via statistical Cesàro summability mean of a continuous function of three variables by using oscillating behavior and De la Vallée Poussin means of a triple integral over a locally convex space. Moreover, some remarks and corollaries are provided here to support our results.

Key Words: Locally convex, triple Cesàro summability, triple improper integral, Tauberian theorems, (C, 1, 1, 1)–summability, (C, k, r, t)–summability Mathematics Subject Classification 2010: 40G05, 40E05

1 Introduction

The notion of statistical convergence was introduced by Fast [5] and Steinhaus [23]. Besides, in this connection, Fridy [6] showed that $k(x_k - x_{k+1}) = O(1)$ is a Tauberian condition for the statistical convergence of (x_k) . Subsequently, many researchers have worked in this area under several settings. For more recent works in this direction, one may refer to [11] and [22]. Parida et al. [19] extended the idea for a locally convex Hausdorff topological linear space. Tauber [24] introduced the first theorems for single sequences, according to which an Abel summable sequence is convergent with some suitable conditions. Later, a large number of authors such as Landau [16], Hardy and Littlewood [9], and Schmidt [21] obtained some classical Tauberian theorems for Cessáro and Abel summability methods of single sequences.

Recently, Çanak and Totur [4], and Jena et al. [10] presented and studied several Tauberian theorems for single sequences. On the other hand, Knopp [15] obtained some classical Tauberian theorems for Abel and (C, 1, 1)–summability methods of double sequences and proved that methods hold for the set of bounded sequences. Further, Moricz [18] proved some Tauberian

theorems for Cesàro summable double sequences and deduced Tauberian theorems of Landau [17] and Hardy [8] type. Çanak and Totur [3] proved Tauberian theorem for Cesáro summability of single integrals and presented new proofs of some classical Tauberian theorems for the Cesáro summability of single integrals. Later, these notions were introduced by Parida et al. [19] for double integrals. On the other hand, the notion of (C, 1, 1, 1)–summability of a triple sequence was originally introduced by Çanak and Totur [1] in 2016.

Later, Çanak et al. [2] studied (C, 1, 1, 1)—means of statistical convergent of triple sequence and gave classical Tauberian theorems for a triple sequence that P—convergence follows from statistically (C, 1, 1, 1)—summability under two-sided boundedness conditions and slowly oscillating conditions in certain senses. Then, in 2020, Totur and Çanak [25] defined Tauberian conditions under which convergence of triple integrals follows from (C, 1, 1, 1)—summability.

In the last few years, the study of Tauberian theorems in double or triple summability was of great interest to many mathematicians (see, [12, 13, 20, 7]). In this paper, motivated by the existing results presented in [15], [16] and [20], we prove a statistical versions of Littlewood-Tauberian theorems via (C, 1, 1, 1)-summability method for triple integrable functions over a locally convex space under slow oscillation by using the De la Vallée Poussin mean of the triple integral. As a result, we extend a Tauberian theorem due to Parida et al. [19].

2 Definitions and Notations

In this section, we present some notions which are useful for the development of the paper.

Definition 1 Let $I = [0, \infty) \subset \mathbb{R}$ and let X(I) be the space of all real-valued measurable functions on I. We will say that a functional $\omega : X(I) \to [0, \infty)$ is a modulus on X(I) if the following conditions hold:

- (i) $\omega(f) = 0$ if and only if f = 0 for all $f \in [0, \infty)$,
- (ii) $\omega(f+g) = \omega(f) + \omega(g)$ for all $f, g \in [0, \infty)$,
- (iii) ω is an increasing function,
- (iv) ω is continuous on $[0,\infty)$.

From here on, X denotes a locally convex Hausdorff topological linear space whose topology is determined by a set Q of continuous semi-norms q.

Let f(x, y, z) be a function in X. The partial sum of f(x, y, z) is given by

$$s(x,y,z) = \int_0^x \int_0^y \int_0^z f(a,b,c) da db dc, \qquad 0 < x,y,z < \infty.$$

Definition 2 The (C, 1, 1, 1)-mean of f(x, y, z) is

$$\sigma(s(x,y,z)) = \sigma^{(1,1,1)}(s(x,y,z)) = \frac{1}{xyz} \int_0^x \int_0^y \int_0^z s(a,b,c) da db dc.$$
 (1)

Definition 3 Integral

$$\int_0^x \int_0^y \int_0^z s(a,b,c) da db dc$$

is (C, 1, 1, 1)-summable to a finite number $l \in X$ if for all $q \in Q$,

$$\lim_{x,y,z\to\infty} q(\sigma(x,y,z)-l)\to 0.$$

In this case, we write $\sigma(x, y, z) \to l$ over X.

Note that the (C, 1, 0, 0), (C, 0, 1, 0) and (C, 0, 0, 1)-means of $f(x, y, z) \in X$ are defined by

$$\sigma^{(1,0,0)}(s(x,y,z)) = \frac{1}{x} \int_0^x s(a,y,z) da,$$

$$\sigma^{(0,1,0)}(s(x,y,z)) = \frac{1}{y} \int_0^y s(x,b,z) db,$$

$$\sigma^{(0,0,1)}(s(x,y,z)) = \frac{1}{z} \int_0^z s(x,y,c) dc,$$

respectively.

Definition 4 Integral

$$\int_0^x \int_0^y \int_0^z s(a,b,c) da db dc$$

is statistically (C, 1, 1, 1)-summable to a finite number $l \in X$ if for all $q \in Q$ and all $\varepsilon > 0$,

$$\lim_{u,v,p\to\infty}\frac{1}{uvp}|\{0< x,y,z\leqq u,v,p\ and\ q(\sigma(x,y,z)-l)\geqq\varepsilon\}|=0.$$

In this case, we write

$$stat \lim_{x,y,z \to \infty} \sigma^{(1,1,1)}(s(x,y,z))$$

$$= stat \int_0^x \int_0^y \int_0^z \left(1 - \frac{a}{x}\right) \left(1 - \frac{b}{y}\right) \left(1 - \frac{c}{z}\right) dadbdc = l.$$

If the integral

$$\int_0^\infty \int_0^\infty \int_0^\infty f(x, y, z) dx dy dz = l,$$

 $l \in X$, exists, then the limit of (1) as a, b, c tends to ∞ also exists. Nevertheless, in general, the converse is not true. In order to prove this, we have to use the oscillatory behavior and De la Vallée Poussin mean of the above triple integral over X.

For each non-negative integers k, r, t, we define

$$\sigma^{(k,r,t)}(s(x,y,z)) = \frac{1}{xyz} \int_0^x \int_0^y \int_0^z \sigma^{(k-1,r-1,t-1)} s(a,b,c) dadbdc$$

if $k, r, t \ge 1$, and in the case k, r, t = 0, we put

$$\sigma^{(0,0,0)}(s(x,y,z)) = \int_0^x \int_0^y \int_0^z s(a,b,c) da db dc.$$

Definition 5 A triple integral

$$\int_0^\infty \int_0^\infty \int_0^\infty f(x,y,z) dx dy dz$$

is said to be statistically (C, k, r, t)-summable to $l \in X$ if $\sigma^{(k,r,t)}(s(x, y, z))$ is summable to l.

Denote

$$s(x,y,z) - \sigma(s(x,y,z)) = v(f(x,y,z)), \tag{2}$$

where

$$v(f(x,y,z)) = v^{(1,1,1)}(f(x,y,z)) = \frac{1}{xyz} \int_0^x \int_0^y \int_0^z f(a,b,c) da db dc.$$

The relation (2) is known as Kronecker identity. We can see that

$$\sigma'(s(x,y,z)) = \frac{v(f(x,y,z))}{xyz}. (3)$$

For each non-negative integers k, r and t, put

$$v^{(k,r,t)}(f(x,y,z)) = \frac{1}{xyz} \int_0^x \int_0^y \int_0^z v^{(k-1,r-1,t-1)} abc f(a,b,c) dadbdc$$

if $k, r, t \geq 1$, and let

$$v^{(0,0,0)}(f(x,y,z)) = \int_0^x \int_0^y \int_0^z abc f(a,b,c) dadbdc.$$

Definition 6 A triple integral

$$\int_{0}^{\infty} \int_{0}^{\infty} \int_{0}^{\infty} xyzf(x,y,z)dxydz$$

is statistically (C, k, r, t)-summable to $l \in X$ if $v^{(k,r,t)}(f(x,y,z))$ is summable to l.

Definition 7 The De la Vallée Poussion mean of the triple integral

$$\int_0^x \int_0^y \int_0^z f(a,b,c) da db dc$$

is defined by

$$\tau(s(x,y,z)) = \frac{1}{(\lambda x - x)(\lambda y - y)(\lambda z - z)} \int_{x}^{\lambda x} \int_{y}^{\lambda y} \int_{z}^{\lambda z} s(a,b,c) da db dc$$

for $\lambda \in (1, \infty)$ and by

$$\tau(s(x,y,z)) = \frac{1}{(x-\lambda x)(y-\lambda y)(z-\lambda z)} \int_{\lambda x}^{x} \int_{\lambda y}^{y} \int_{\lambda z}^{z} s(a,b,c) da db dc$$

for $\lambda \in (0,1)$.

Definition 8 A triple integral

$$\int_0^x \int_0^y \int_0^z f(x,y,z) dx dy dz$$

belonging to X is oscillating slowly if

$$\lim_{\lambda \to 1^+} \limsup_{x,y,z \to \infty} \max_{x,y,z \le a,b,c \le \lambda x, \lambda y, \lambda z} |s(a,b,c) - s(x,y,z)| = 0,$$

or, equivalently,

$$\lim_{\lambda \to 1^-} \limsup_{x,y,z \to \infty} \max_{\lambda x, \lambda y, \lambda z \le a, b, c \le x, y, z} |q(s(a,b,c)) - s(x,y,z)| = 0.$$

3 Main Results

We start with some auxiliary lemmas, which are also of independent interest.

Lemma 1 The sequence of partial sums of a triple integrable functions f(x, y, z) over a locally convex space X is oscillating slowly if and only if $v(f(x, y, z)) \in X$ is bounded and oscillating slowly.

Proof. Let s(x, y, z) be oscillating slowly. First, we show that v(f(x, y, z)) = O(1) as $x, y, z \to \infty$. We have

$$\int_{0}^{x} \int_{0}^{y} \int_{0}^{z} wzgf(w, z, g) dwdzdg$$

$$= \sum_{i=0}^{\infty} \sum_{j=0}^{\infty} \sum_{k=0}^{\infty} \int_{x/3^{i+1}}^{x/3^{i}} \int_{y/3^{j+1}}^{y/3^{j}} \int_{z/3^{k+1}}^{z/3^{k}} wzgf(w, z, g) dwdzdg.$$

From here it follows that

$$\begin{split} &\int_{\alpha}^{\beta} \int_{\gamma}^{\delta} \int_{\theta}^{\vartheta} wzgf(w,z,g) dw dz dg \\ &= \int_{\alpha}^{\beta} \int_{\gamma}^{\delta} \int_{\theta}^{\vartheta} wzgs'f(w,z,g) dw dz dg \\ &= \int_{\alpha}^{\beta} \int_{\gamma}^{\delta} zg \left(\int_{\theta}^{\vartheta} ws'(w,z,g) dw \right) dz dg \\ &= \int_{\alpha}^{\beta} \int_{\gamma}^{\delta} zg \left[w(s(w,z,g))_{\theta}^{\vartheta} - \int_{\theta}^{\vartheta} s(w,z,g) dw \right] dz dg \\ &= \int_{\alpha}^{\beta} \int_{\gamma}^{\delta} zgs(w,z,g) dw dz dg + \vartheta \int_{\alpha}^{\beta} \int_{\gamma}^{\delta} zgs(\vartheta,z,g) dz dg \\ &= -\theta \int_{\alpha}^{\beta} \int_{\gamma}^{\delta} zgs(\vartheta,z,g) dz dg - \theta \int_{\alpha}^{\beta} \int_{\gamma}^{\delta} zgs(\vartheta,z,g) dz dg \\ &+ \theta \int_{\alpha}^{\beta} \int_{\gamma}^{\delta} zgs(\vartheta,z,g) dz dg - \int_{\alpha}^{\beta} \int_{\gamma}^{\delta} zgs(w,z,g) dw dz dg \\ &+ \theta \left(\int_{\alpha}^{\beta} \int_{\gamma}^{\delta} zgs(\vartheta,z,g) dz dg - \int_{\alpha}^{\beta} \int_{\gamma}^{\delta} zgs(\vartheta,z,g) dz dg \right) \\ &= \int_{\alpha}^{\beta} \int_{\gamma}^{\delta} \int_{\theta}^{\vartheta} [zg(s(w,z,g) - s(\vartheta,z,g))] dz dg dw \\ &+ \theta \left(\int_{\alpha}^{\beta} \int_{\gamma}^{\delta} zgs(\vartheta,z,g) dz dg - \int_{\alpha}^{\beta} \int_{\gamma}^{\delta} zgs(\vartheta,z,g) dz dg \right) \\ &= (\beta - \alpha)(\delta - \gamma)(\vartheta - \theta) \max_{\alpha,\gamma,\theta \leq x,y,z \leq \beta,\delta,\vartheta} |s(x,y,z) - s(\beta,\delta,\vartheta)| \\ &+ \theta \left| \int_{\alpha}^{\beta} \int_{\gamma}^{\delta} zgs(\vartheta,z,g) dz dg - \int_{\alpha}^{\beta} \int_{\gamma}^{\delta} zgs(\theta,z,g) dz dg \right|. \end{split}$$

If we take $\beta = x/3^i, \beta/\alpha \le 3, \delta = y/3^j, \delta/\gamma \le 3$ and $\vartheta = z/3^k, \vartheta/\theta \le 3$, we obtain

$$\left| \int_0^x \int_0^y \int_0^z wzgf(w,z,g)dwdzdg \right| \le A \sum_{i=0}^\infty \sum_{j=0}^\infty \sum_{z=0}^\infty \frac{xyz}{3^{i+j+k}} = O(xyz)$$

as $x, y, z \to \infty$.

Now, we shall show that $\sigma(s(x,y,z))$ is oscillating slowly. Tacking (3) into account, we can write

$$\begin{aligned} |\sigma(s(a,b,c)) - \sigma(s(x,y,z))| &= \left| \int_x^a \int_y^b \int_z^c \sigma'(s(w,z,g)) dw dz dg \right| \\ &= \left| \int_x^a \int_y^b \int_z^c f(w,z,g) dw dz dg \right| \\ &\leq C \int_x^a \int_y^b \left(\int_z^c \frac{dw}{w} \right) \frac{dz}{z} \frac{dg}{g} \\ &= C \log(c/z) \log(b/y) \log(a/x) \end{aligned}$$

for any $x \leq \lambda x$, $y \leq \lambda y$, $z \leq \lambda z$. It is clear that

$$\max_{x,y,z \le a,b,c \le \lambda x, \lambda y, \lambda z} |\sigma(s(a,b,c)) - \sigma(s(x,y,z))| \le C \log(\lambda) \log(\lambda) \log(\lambda).$$

Passing to the supremum limit from the both sides as $\lambda \to 1^+$, we obtain

$$\lim_{\lambda \to 1^+} \limsup_{x,y,z \to \infty} \max_{x,y,z \le a,b,c \le \lambda x, \lambda y, \lambda z} |\sigma(s(a,b,c)) - \sigma(s(x,y,z))| = 0.$$

This implies that v(f(x, y, z)) is oscillating slowly by Kronecker identity (2).

To prove the converse part, suppose that v(f(x,y,z)) is bounded and oscillating slowly. The boundedness of v(f(x,y,z)) implies that $\sigma(s(x,y,z))$ is oscillating slowly. Since v(f(x,y,z)) is oscillating slowly, so s(x,y,z) is oscillating slowly by Kronecker identity (2). \square

Lemma 2 For $\lambda > 1$, it holds

$$\begin{split} &s(x,y,z) - \sigma(s(\lambda x,\lambda y,\lambda z)) \\ &= \frac{1}{(\lambda-1)^3} (\sigma(s(\lambda x,\lambda y,\lambda z)) - \sigma(s(x,y,z))) + \frac{3}{(\lambda-1)} \sigma(s(\lambda x,\lambda y,\lambda z)) \\ &- \frac{1}{(\lambda x-x)(\lambda y-y)(\lambda z-z)} \int_x^{\lambda x} \int_y^{\lambda y} \int_z^{\lambda z} (s(a,b,c) - s(x,y,z)) dadbdc, \end{split}$$

and for $0 < \lambda < 1$, one has

$$\begin{split} s(x,y,z) &- \sigma(s(\lambda x,\lambda y,\lambda z)) \\ &= \frac{1}{(\lambda-1)^3} (\sigma(s(\lambda x,\lambda y,\lambda z)) - s(\lambda x,\lambda y,\lambda z)) + \frac{3}{(\lambda-1)} \sigma(s(\lambda x,\lambda y,\lambda z)) \\ &- \frac{1}{(x-\lambda x)(y-\lambda y)(z-\lambda z)} \int_{\lambda x}^x \int_{\lambda y}^y \int_{\lambda z}^z (s(x,y,z) - s(a,b,c)) dadbdc. \end{split}$$

Proof. Let $\lambda > 1$. By De la Vallée Poussion mean of s(x, y, z), we can write

$$\tau(s(x,y,z)) = \frac{1}{(\lambda x - x)(\lambda y - y)(\lambda z - z)} \int_{x}^{\lambda x} \int_{y}^{\lambda y} \int_{z}^{\lambda z} s(a,b,c) dadbdc$$

$$= \frac{1}{x(\lambda - 1)y(\lambda - 1)z(\lambda - z)}$$

$$\left(\int_{0}^{\lambda x} \int_{0}^{\lambda y} \int_{0}^{\lambda z} s(a,b,c) dadbdc - \int_{0}^{x} \int_{0}^{y} \int_{0}^{z} s(a,b,c) dadbdc\right).$$

Besides, since

$$\sigma(s(\lambda x, \lambda y, \lambda z)) = \frac{1}{\lambda x \lambda y \lambda z} \int_0^{\lambda x} \int_0^{\lambda y} \int_0^{\lambda z} s(a, b, c) da db dc$$

and

$$\sigma(s(x,y,z)) = \frac{1}{xyz} \int_0^x \int_0^y \int_0^z s(a,b,c) da db dc,$$

we have

$$\begin{split} \tau(s(x,y,z)) &= \frac{\lambda^3}{(\lambda-1)^3} \sigma(s(\lambda x,\lambda y,\lambda z)) - \frac{1}{(\lambda-1)^3} \sigma(s(x,y,z)) \\ &= \left(1 + \frac{1}{(\lambda-1)}\right)^3 \sigma(s(\lambda x,\lambda y,\lambda z)) - \frac{1}{(\lambda-1)^3} \sigma(s(x,y,z)). \end{split}$$

Further,

$$\tau(s(x,y,z)) - \sigma(s(\lambda x, \lambda y, \lambda z)) = \frac{1}{(\lambda - 1)^3} \sigma(s(\lambda x, \lambda y, \lambda z)) + \frac{3}{(\lambda - 1)} \sigma(s(\lambda x, \lambda y, \lambda z)) - \frac{1}{(\lambda - 1)^3} \sigma(s(x,y,z)).$$

$$(4)$$

Subtracting $\sigma(s(\lambda x, \lambda y, \lambda z))$ from the identity

$$s(x,y,z) = \tau(s(x,y,z)) - \frac{1}{(\lambda x - x)(\lambda y - y)(\lambda z - z)}$$
$$\int_{x}^{\lambda x} \int_{y}^{\lambda y} \int_{z}^{\lambda z} (s(a,b,c) - s(x,y,z)) dadbdc,$$

we obtain

$$s(x,y,z) - \sigma(s(\lambda x, \lambda y, \lambda z)) = \tau(s(x,y,z)) - \sigma(s(\lambda x, \lambda y, \lambda z))$$

$$- \frac{1}{(\lambda x - x)(\lambda y - y)(\lambda z - z)} \int_{x}^{\lambda x} \int_{y}^{\lambda y} \int_{z}^{\lambda z} (s(a,b,c) - s(x,y,z)) dadbdc.$$
(5)

By (4) and (5), we get

$$\begin{split} s(x,y,z) &- \sigma(s(\lambda x,\lambda y,\lambda z)) = \frac{1}{(\lambda-1)^3} (\sigma(s(\lambda x,\lambda y,\lambda z)) - \sigma(s(x,y,z))) \\ &+ \frac{3}{(\lambda-1)} \sigma(s(\lambda x,\lambda y,\lambda z)) \\ &- \frac{1}{(\lambda x-x)(\lambda y-y)(\lambda z-z)} \int_x^{\lambda x} \int_y^{\lambda y} \int_z^{\lambda z} (s(a,b,c) - s(x,y,z)) dadbdc. \end{split}$$

In the case $0 < \lambda < 1$, the proof is similar. \square

Theorem 1 If s(x, y, z) is statistically (C, 1, 1, 1)-summable to $l \in X$ in a locally convex space X and s(x, y, z) is oscillating slowly, then $s(x, y, z) \to l$ as $x, y, z \to \infty$.

Proof. Let s(x,y,z) be statistically (C,1,1,1)-summable to $l \in X$. This implies that $\sigma(s(x,y,z))$ is (C,1,1,1)-summable to l. Now, from (2), we conclude that v(f(x,y,z)) is statistically (C,1,1,1)-summable to zero. Therefore, by Lemma 1, v(f(x,y,z)) is oscillating slowly. Besides, by Lemma 2, we obtain

$$v(f(x,y,z)) - \sigma(v(f(\lambda x, \lambda y, \lambda z))) = \frac{1}{(\lambda - 1)^3} ((\sigma(v(f(\lambda x, \lambda y, \lambda z))))$$
$$- \sigma(v(f(x,y,z))) + \frac{3}{(\lambda - 1)} \sigma(v(f(\lambda x, \lambda y, \lambda z))) - \frac{1}{(\lambda x - x)(\lambda y - y)(\lambda z - z)}$$
$$\cdot \int_x^{\lambda x} \int_y^{\lambda y} \int_z^{\lambda z} (v(f(a,b,c)) - v(f(x,y,z))) \, dadbdc.$$

Thus, we can write

$$\begin{split} &|v(f(x,y,z)) - \sigma(v(f(x,y,z)))| \\ &\leq \frac{1}{(\lambda-1)^3} |(\sigma(v(f(\lambda x, \lambda y, \lambda z)))) - \sigma(v(f(x,y,z)))| \\ &+ \frac{3}{(\lambda-1)} |\sigma(v(f(\lambda x, \lambda y, \lambda z)))| \\ &+ \max_{x,y,z \leq a,b,c \leq \lambda x, \lambda y, \lambda z} |v(f(a,b,c)) - v(f(x,y,z))|. \end{split}$$

Now, passing to the supremum limit from the both sides of the obtained relation as $x, y, z \to \infty$, we obtain

$$\lim_{x,y,z\to\infty} \sup_{x,y,z\to\infty} |v(f(x,y,z)) - \sigma(v(f(x,y,z)))|$$

$$\leq \lim_{x,y,z\to\infty} \sup_{(\lambda-1)^3} |(\sigma(v(f(\lambda x,\lambda y,\lambda z)))) - \sigma(v(f(x,y,z)))|$$

$$+ \lim_{x,y,z\to\infty} \sup_{(\lambda-1)} |\sigma(v(f(\lambda x,\lambda y,\lambda z)))|$$

$$+ \lim_{x,y,z\to\infty} \sup_{x,y,z\leq a,b,c\leq \lambda x,\lambda y,\lambda z} |v(f(a,b,c)) - v(f(x,y,z))|.$$
(6)

Moreover, as $\sigma(v(f(\lambda x, \lambda y, \lambda z))) \in X$ converges, the first and the second terms in the right hand side of (6) must vanish. Therefore,

$$\begin{split} \lim\sup_{x,y,z\to\infty} |v(f(x,y,z)) - \sigma(v(f(x,y,z)))| \\ &\leq \lim\sup_{x,y,z\to\infty} \max_{x,y,z\leq a,b,c\leq \lambda x,\lambda y,\lambda z} |v(f(a,b,c)) - v(f(x,y,z))|, \end{split}$$

and as $\lambda \to 1^+$, we get

$$\lim_{x,y,z\to\infty} \sup |v(f(x,y,z)) - \sigma(v(f(x,y,z)))| \le 0.$$

This implies that v(f(x,y,z)) = O(1) as $x,y,z \to \infty$. Since s(x,y,z) is statistically summable to l by Cesáro mean and v(f(x,y,z)) = O(1) as $x,y,z \to \infty$, we conclude that $\lim_{x,y,z\to\infty} s(x,y,z) = l$. \square

Corollary 1 If s(x,y,z) is statistically (C,k,r,t)-summable to $l \in X$ in a locally convex space X and s(x,y,z) is oscillating slowly, then $s(x,y,z) \to l$ as $x,y,z \to \infty$.

Proof. By Lemma 1, s(x, y, z) and $\sigma^{(k,r,t)}(s(x, y, z))$ are oscillating slowly. Moreover, by Theorem 1, s(x, y, z) is statistically (C, k, r, t)-summable to $l \in X$. Thus

$$stat \lim_{x,y,z \to \infty} \sigma^{(k,r,t)}(s(x,y,z)) = l.$$
 (7)

Now, by the definition,

$$\sigma^{(k,r,t)}(s(x,y,z)) = \sigma^{(1,1,1)}(s(x,y,z))(\sigma^{(k-1,r-1,t-1)}(s(x,y,z))). \tag{8}$$

It is clear that (7) and (8) imply that s(x, y, z) is statistically (C, k-1, r-1, t-1)—summable to $l \in X$. Further, by Lemma 1, $\sigma^{(k-1,r-1,t-1)}(s(x,y,z))$ is oscillating slowly. Thus, Theorem 1 implies

$$\lim_{x,y,z \to \infty} \sigma^{(k-1,r-1,t-1)}(s(x,y,z)) = l.$$

Continuing in this way, we obtain $\lim_{x,y,z\to\infty}(s(x,y,z))=l$. \square

Theorem 2 If s(x, y, z) is statistically (C, 1, 1, 1)-summable to $l \in X$ over a locally convex space X and v(f(x, y, z)) is oscillating slowly, then $s(x, y, z) \rightarrow l$ as $x, y, z \rightarrow \infty$.

Proof. Since s(x, y, z) is statistically (C, 1, 1, 1)-summable to $l \in X$, we conclude that $\sigma^{(1,1,1)}(s(x,y,z))$ is also statistically Cesáro summable to l. Hence, v(f(x,y,z)) is statistically Cesáro summable to zero by (2). Using identity (2) to v(f(x,y,z)), we obtain that v(v(f(x,y,z))) is statistically

Cesáro summable to zero. Thus, v(v(f(x, y, z))) is oscillating slowly by Lemma 1. Further, by Lemma 2, we have

$$\begin{split} &v(v(f(x,y,z))) - \sigma(v(v(f(\lambda x,\lambda y,\lambda)))) \\ &= \frac{1}{(\lambda-1)^3} [\sigma(v(v(f(\lambda x,\lambda y,\lambda)))) - v(v(f(x,y,z)))] \\ &+ \frac{3}{(\lambda-1)} \sigma(v(v(f(\lambda x,\lambda y,\lambda)))) - \frac{1}{(\lambda x-x)(\lambda y-y)(\lambda z-z)} \\ &\cdot \int_x^{\lambda x} \int_y^{\lambda y} \int_z^{\lambda z} \left(v(v(f(a,b,c))) - v(v(f(x,y,z)))\right) dadbdc. \end{split}$$

Now,

$$|v(v(f(x,y,z))) - \sigma(v(v(f(\lambda x, \lambda y, \lambda))))|$$

$$\leq \frac{1}{(\lambda-1)^3} |\sigma(v(v(f(\lambda x, \lambda y, \lambda)))) - v(v(f(x,y,z)))|$$

$$+ \frac{3}{(\lambda-1)} |\sigma(v(v(f(\lambda x, \lambda y, \lambda))))|$$

$$+ \max_{x,y,z \leq a,b,c \leq \lambda x, \lambda y, \lambda z} |(v(v(f(a,b,c))) - v(v(f(x,y,z)))|.$$

$$(9)$$

Passing to the supremum limit from the both sides of (9) as $x, y, z \to \infty$, we can write

$$\lim_{x,y,z\to\infty} \sup |v(v(f(x,y,z))) - \sigma(v(v(f(\lambda x,\lambda y,\lambda))))|$$

$$\leq \lim_{x,y,z\to\infty} \sup \frac{1}{(\lambda-1)^3} |\sigma(v(v(f(\lambda x,\lambda y,\lambda)))) - v(v(f(x,y,z)))|$$

$$+ \lim_{x,y,z\to\infty} \sup \frac{3}{(\lambda-1)} |\sigma(v(v(f(\lambda x,\lambda y,\lambda))))|$$

$$+ \lim_{x,y,z\to\infty} \sup_{x,y,z\leq a,b,c\leq \lambda x,\lambda y,\lambda z} |v(v(f(a,b,c))) - v(v(f(x,y,z)))|.$$
(10)

Since $\sigma(v(v(f(\lambda x, \lambda y, \lambda z)))) \in X$ converges, the first and the second terms in the right hand side of (10) must be zero. Hence,

$$\begin{split} & \limsup_{x,y,z\to\infty} |v(v(f(x,y,z))) - \sigma(v(v(f(\lambda x,\lambda y,\lambda))))| \\ & \leq \limsup_{x,y,z\to\infty} \max_{x,y,z\leq a,b,c\leq \lambda x,\lambda y,\lambda z} |(v(v(f(a,b,c))) - v(v(f(x,y,z)))|, \end{split}$$

and tending $\lambda \to 1^+$, we get

$$\lim \sup_{x,y,z \to \infty} |v(v(f(x,y,z))) - \sigma(v(v(f(\lambda x,\lambda y,\lambda)))))| \le 0.$$

It is clear that v(v(f(x,y,z))) = O(1) as $x,y,z \to \infty$. Moreover, s(x,y,z) is statistically summable to $l \in X$ by Cesáro mean and v(v(f(x,y,z))) = O(1) as $x,y,z \to \infty$. Thus, $s(x,y,z) \to l$ as $x,y,z \to \infty$. \square

Corollary 2 If s(x, y, z) is statistically (C, k, r, t)-summable to $l \in X$ over a locally convex space X and v(f(x, y, z)) is oscillating slowly, then $s(x, y, z) \rightarrow l$ as $x, y, z \rightarrow \infty$.

Proof. Since v(f(x, y, z)) is oscillating slowly, by Lemma 1, we get that $\sigma^{(k,r,t)}(v(f(x,y,z)))$ is oscillating slowly. Besides, as v(f(x,y,z)) is statistically (C, k, r, t)-summable to $l \in X$, by Theorem 2, we have

$$stat \lim_{x,y,z\to\infty} \sigma^{(k,r,t)}(v(f(x,y,z))) = l.$$
 (11)

Now, by the definition,

$$\lim_{x,y,z\to\infty} \sigma^{(k,r,t)}(v(f(x,y,z)))$$

$$= \sigma^{(1,1,1)}(v(f(x,y,z)))\sigma^{(k-1,r-1,t-1)}(v(f(x,y,z))). \quad (12)$$

By (11) and (12), v(f(x,y,z)) is statistically (C,k-1,r-1,t-1)-summable to l. Furthermore, by Lemma 1, since $\sigma^{(k-1,r-1,t-1)}(v(f(x,y,z)))$ is oscillating slowly, Theorem 2 implies that $\lim_{x,y,z\to\infty}v(f(x,y,z))=l$. \square

In the similar way, we can get new theorems and corollaries by using (C, 1, 0, 0), (C, 0, 1, 0) and (C, 0, 0, 1)-summability methods.

Acknowledgements

The authors are thankful to respected referees for their careful reading of the paper and several valuable suggestions which have improved the presentation of the paper.

References

- [1] I. Çanak and Ü. Totur, Some classical Tauberian theorems for (C,1,1,1)-summable triple sequences. Georgian Math. J., **23** (2016), no. 1, pp. 33–42. https://doi.org/10.1515/gmj-2015-0007
- [2] I. Çanak, Z. Önder and Ü. Totur, Statistical extensions of some classical Tauberian theorems for Cesàro summability of triple sequences. Results in Mathematics, **70** (2016), pp. 457–473. https://doi.org/10.1007/s00025-016-0582-3
- [3] I. Çanak and Ü. Totur, A Tauberian theorem for Cesàro summability of integrals. Appl. Math. Lett., **24** (2011), no. 3, pp. 391–395. https://doi.org/10.1016/j.aml.2010.10.036

- [4] I. Çanak and Ü. Totur, Some Tauberian conditions for Cesàro summability method. Math. Slovaca, **62** (2012), no. 2, pp. 271–280. https://doi.org/10.2478/s12175-012-0008-y
- [5] H. Fast, Sur la convergence statistique. Colloq. Math., 2 (1951), pp. 241–244.
- [6] J. Fridy, On statistical convergence. Analysis 5 (1985), no. 3-4, pp. 301–313. https://doi.org/10.1524/anly.1985.5.4.301
- [7] C. Granados, A.K. Das and S. Das, New Tauberian theorems for Cesàro summable triple sequences of fuzzy numbers. Kragujev. J. Math., 48 (2024), no. 5, pp. 787–802.
- [8] G.H. Hardy, *Divergent series*, Clarendon Press, 1949.
- [9] G.H. Hardy and J.E. Littlewood, Tauberian theorems concerning power series and Dirichlet's series whose coefficients are positive. Proc. London Math. Soc., **13** (1914), no. 1, pp. 174–191. https://doi.org/10.1112/plms/s2-13.1.174
- [10] B.B. Jena, S.K. Paikray and U.K. Misra, A proof of Tauberian theorem for Cesàro summability method. Asian Journal of Mathematics and Computer Research, 8 (2016), pp. 272–276.
- [11] B.B Jena, S.K. Paikray and U.K. Misra, Statistical deferred Cesaro summability and its applications to approximation theorems. Filomat, **32** (2018), no. 6, pp. 2307–2319. https://doi.org/10.2298/fil1806307j
- [12] B.B. Jena, S.K. Paikray and U.K. Misra, A Tauberian theorem for double Cesàro summability method. Int. J. Math. Math. Sci., 2016 (2016), Article ID 2431010, pp. 1–4. https://doi.org/10.1155/2016/2431010
- [13] B.B. Jena, S.K. Paikray, P. Parida and H. Dutta, Results on Tauberian theorem for Cesàro summable double sequences of fuzzy numbers, Kragujev. J. Math., 44 (2020), no. 4, pp. 495–508. https://doi.org/10.46793/kgjmat2004.495j
- [14] B.B. Jena, S.K. Paikray and U.K. Misra, Inclusion theorems on general convergence and statistical convergence of (L, 1, 1)-summability using generalized Tauberian conditions. Tamsui Oxf. J. Inf. Math. Sci., **31** (2017), pp. 101–115.
- [15] K. Knopp, Limitierungs-umkehrsätze für doppelfolgen. Math. Z. **45** (1939), pp. 573–589. https://doi.org/10.1007/bf01580302

- [16] E. Landau, Über einen satz des herrn Littlewood. Rendiconti del Circolo Mat. di Palermo, **35** (1913), pp. 265–276. https://doi.org/10.1007/bf03015606
- [17] E. Landau, Über die bedeutung einiger neuerer grenzwertsätze der herren Hardy and Axer. Prace Mathematics FIZ, **21** (1910), pp. 97–177.
- [18] F. Moricz, Tauberian theorems for Cesàro summable double sequences. Studia Math., 110 (1994), pp. 83–96. https://doi.org/10.4064/sm-110-1-83-96
- [19] P. Parida, S.K. Paikray and B.B. Jena, Tauberian theorems for satistical Cesàro summability of function of two variables over a locally convex space. Studies in Computational Intelligence: Recent Advances in Intelligent Information Systems, **863** (2020), pp. 779–790. https://doi.org/10.1007/978-3-030-34152-7_60
- [20] P. Parida, S.K. Paikray and B.B Jena, Statistical Tauberian theorems for Cesàro integrability mean based on post quantum calculus. Arab. J. Math., 9 (2020), pp. 653–663. https://doi.org/10.1007/s40065-020-00284-z
- [21] R. Schmidt, Über divergente folgen und lineare mittelbildungen. Math.
 Z., 22 (1925), pp. 89–152. https://doi.org/10.1007/bf01479600
- [23] H. Steinhaus, Sur la convergence ordinaire et la convergence asymptotique. Colloq. Math., 2 (1951), pp. 73–74.
- [24] A. Tauber, Ein der theorie der unendlichen satz rei-Monatshefte für Mathematik, (1897),273-277.pp. https://doi.org/10.1007/bf01696278
- [25] U. Totur and I. Çanak, Some Tauberian conditions under which convergence follows from (C, 1, 1, 1)–summability. J. Anal., **28** (2020), pp. 683–694. https://doi.org/10.1007/s41478-019-00179-z

Carlos Granados University of Antioquia Medellín, Colombia. carlosgranadosortiz@outlook.es Ajoy Kanti Das Department of Mathematics, Bir Bikram Memorial College, Agartala-799004, Tripura, India. ajoykantidas@gmail.com

Please, cite to this paper as published in

Armen. J. Math., V. $\bf 14$, N. 5(2022), pp. 1–15 https://doi.org/10.52737/18291163-2022.14.5-1-15